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1. Which of the following is a linear equation in two variable?

(i) (9x2—46x—48)=0 (ii) (24x2—44xy—61x+16y°+28y—8)=0 (iii) (-2x+2y+82-3)=0

(iv) (5x=2)=0 (v) (4x—-9y—-2)=0

2. Which of the following is a linear equation in two variable?

(i) (18x2—71xy—55x—45y%2+20y+25)=0 (ii) (2x+7y—5)=(—6x—5y+9)

(iii) (=2x=y+2z-2)=(-5x-8y—62z+7) (iv) (—4Ox2+24x)=x (v) (3x=9)=(-8x-9)

3. The linear equation(—8x+7y+7)=(4x—6)y—5) is equivalent to
(i) (=8x+7y+7)=(4x—-8y—=5) (ii) (=12x+13y+12)=0 (iii)) (-=8x+7y+7)=(4x—-4y-5)

(iv) (=11x+13y+12)=0 (v) (—=13x+13y+12)=0

4. The value of xin terms of other variables and constant in(4x+y+3)=(—-2x+3y+2) is

() x=(y=2) () x=(y—2) (i) x=(oy+2) (W) x=(iy-1) () x=(-y-1)
|)(—5y6 ii x—y6 iii X—3y6 iv x—3y6 vx_3y2

5. The value of yin terms of other variables and constant in(6x+4y+1)=(x+9y+3)is

(i) _(_2) (i) y=( —Z) (iii) y=( —‘-1) (iv) y=(2 —g) (v) y=
|y—5 ii y—x5 iii y—x5 iv y—x5 V) y=x

6. Find the set of points satisfying the equation(—=15x—6y+24)=0
) 13 3 . 13 3
(i) ((—2),9),((—1).3),(1.3),(1,5),(2,(—1)) (i) ((—2),9).((—1),7),(0,4).(1.5),(2.(—1))
5

13 3 13
(iii) ((—2).9).((—1).-2 ).((—2).2),(1,2).(2.(—1)) (iv) ((=2),9),((=1), > ).(0,4).(0.-2).(2.(—1))

13 3
(V) ((—2),9).((—1).? ).(0,4).(1.5 ),(4,1)

7. Find the set of points satisfying the equation y=(—zx+‘71)
(i) ((=2) -17)((—1) 3).,(0 -7)(1 -l)(4 -5) (i) ((=2) -17)((—1) 3).,(1 -3)(1 -1)(2 (—-3))
' "4 2N Ry AR "4 B S I |
(i) ((=2) Y ),((=1),3).,(0 ! ).(0 3 ).(2 (—-3 ) (iv) ((=2) L ).((=1),3).,((=2) (—-1 )).(1 ! ).(2 (—-3 )
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(v) ((=2) E)((—1)3)(0 Z)(1 l)(2 (_§))
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8. Find the set of points satisfying the equation x=(—5y+ =

() ((=2), 25 ),((=1),18),(0, 2 )(1,130,(4, 20) (i) ((=2), 5 ),((=1),18),(0, 2 ).(1,13),(2, )
I 2 R ) ! 2 SR )

(i) (-2, 25).0(=1),28),(1, 22),(1,13),2,25) (W) ((=2), 25 ),((=1),18),0(=2), 20 ),(1,13).02, 20)
. 2 S ) W 2 Y 2]

(v) ((=2) -41)((—1) 18).(0 -31)(0 14),(2 -21)
Y 27 ' 2 T2

9. Find the set of points satisfying the equation y=2x
(i) ((=2),(=4)),((-1),(=2)),((=2),(-2)),(1,2),(2,4) (i) ((=2),(=4)),((-1),(-2)),(0,0),(0,3),(2,4)
(iii) ((=2),(=4)),((-1),(-2)),(0,0),(1,2),(4,6) (iv) ((-2),(=4)),((-1),(=2)),(1,(-1)),(1,2),(2,4)

(v) ((=2),(=4)),((=1),(=2)),(0,0),(1,2),(2,4)

10. Find the set of points satisfying the equation(9x+8y—4)=0

11 13 1 5 7

(i) ((=2), 4 ),((=1), 3 ),(1,(—'2)).(1.(—'8)).(2,(—4))
11 13 5
(ii) ((=2),- ((=1),— )00, 2) (L (==NA2.(=-))
4 8
(iii) ((=2) 11)((—1) 13)((—2)(—3))(1 (—5))(2 (—7))
1 IR '8 , ’ 5 /L 8 4, a
(iv) ((=2) '11)((—1) '13)(0 '1)(0 '3)(2 (—'7)) (v) ((=2) '11)((—1) '13)(0 'l)(l (—5)) (4 '1)
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11. Find the set of points satisfying the equation y=(—-9)
(i) ((=2),(=9)),((=1),(=9)).,(1,(-10)),(1,(=9)),(2,(-9))
(i) ((=2),(=9)),((=1),(=9)),(0,(-9)),(0,(—8)).(2,(-9))
(iii) ((=2),(-9)),((=1),(=9)).(0,(=9)),(1,(=9)),(4,(=7))
(iv) ((=2),(=9)),((=1),(=9)),((=2),(-11)),(1,(=9)).(2,(=9))
(v) ((=2),(-9)).((=1),(=9)).(0,(=9)),(1,(=9)).,(2,(=9))

12. Find the set of points satisfying the equation x=8
(i) (8,(-2)),(8,(-1)),(8,0),(8,1),(10,4) (i) (8,(—2)),(8,(—-1)),(9,(—-1)),(8,1),(8,2)
(i) (8,(-2)),(8,(-1)),(8,0),(8,1),(8,2) (iv) (8,(—2)),(8,(—-1)),(6,(-2)),(8,1),(8,2)

(v) (8,(=2)).(8,(-1)).(8,0),(7,2),(8,2)

Which of the following equations satisfy the given points

1)) (0 (—27)) (1 (—43)) (2 (—-59)) ?
370 13 13t 13

13. 5 1
((=2), 13 ), ((=1).(= ]

(i) (=16x—13y—27)=0 (ii) y=(=5) (iii) (6x+3y—2)=0 (iv) —(-16 +15) (v) —(—-16)(—145)
i X y = i) y= il X+3y = V) x= 13)/ 13 V) y= 13 13
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15.

16.

17.

Which of the following equations satisfy the given points((—2), ), ((—1), ), (0, ),(1,6),(2, ) ?

8 4 8 8
. . 15 41 . 15 63
(i) (12x4+7y—=3)=0 (ii) y=6 (i) x=( 3 V- 4 ) (iv) y=(- 5 X+ 5 ) (v) (=15x—8y+33)=0
Which of the following equations satisfy the given points((—2) 2) (-1) > ), (0 1) (1,( 1 ). (2,( 1)) ?
ged y g P "3 127 e T 12T 3
(i) =(— 3 X+43) (i) x=( 3 —11) (iii) (=3x—14y—13)=0 (iv) (3x+12y—-2)=0 (V) =7
V=TT =177 Y B yoar= r=

Which of the following equations satisfy the given points((-2),8),((-1),8),(0,8),(1,8),(2,8) ?

(i) (54x+49y—42)=0 (ii) x=3 (iii) —(11 —'13) (iv) y=8 (v) —(—-11X+-43)
i X y = i) x= i) x= 12)/ 3 iv) y= V) y=(=5%+,

Which of the following equations satisfy the given points
((=4),(=2)),((=4),(-1)),((=4),0),((-4),1),((—4),2) ?
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(i) y=1 (ii) x=(—=4) (ii) (6x+5y—4)=0 (iv) (=11x-9y—-34)=0 (v) x=(-9y—9)



Assignment Key

1) (v) 2) (ii) 3) (ii) 4) (iv) 5) (ii) 6) (ii)
7) (v) 8) (ii) 9) (v) 10) (ii) 11) (v) 12) (iii)
13) (i) 14) (iv) 15) (iv) 16) (iv) 17) (ii)
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